
 Quiz 52  

SBU 2020 Lesson 52 (quiz)   

 

1) Partner opens 1 and RHO overcalls 1.  What would you bid with these hands? 

 

 a)  74 b)  973 c)  A102 d)  9763 e)  KJ2 

  J963   KQ1082   Q1083   AQ4   K94 

   104   J6   65   K5   875 

   AQ952   A54   AK74   KJ102   J1063 

 

 __________ __________ __________ __________ __________ 

 

 

 

2) You opened 1, LHO overcalled 1 and partner made a Negative Double. What now? 

 

 a)  A32 b)  AJ6 c)  Q105 d)  105 e)  K942 

  AJ96   74   4   A9   Q6 

   K10874   AQ952   AK873   AKQ843   AKJ5 

   5   KJ3   A962   K62   AQ8 

 

 __________ __________ __________ __________ __________ 

 

 

3) This is the West hand. We give you the bidding so far. What do you do now? 

 a)  J1073 West North East South 

   Q6 - - 1 2 

   KQJ9 ???   

   854  

 ___________ 

 

 b)  J7 West North East South 

   KQ64 - - 1 2 

   105 ??? 

   A10832 

 ___________ 

 

 c)  A952 West North East South 

   A7 1 1 Dbl 2 

   83 ??? 

   AJ642 

    ___________ 

 

 d)  A West North East South 

   KJ863 1 1 Pass Pass 

   AQJ10 ??? 

   Q97 

    ___________ 


